A.

Ill. SPEAKING

Match the sentences.

IV. WRITING

A. Complete the sentences with the words in the box.
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lan loves flying because _e

lan can't control the hang-glider because ____
The lion gets up because
lan is terrified because

lan is a lucky young man because

lan is safe because

travels enclosure antelopes
towards smiles hobby
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a strong wind starts blowing.

his hobby is his work, too.

it sees lan.

he gets into the helicopter.

he loves the feeling of freedom when he flies.
the lion walks towards him.

Answer the questions.
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In the lion’s enclosure.
All around the world.
Testing hang-gliders.
A man in a helicopter.

What is lan’s hobby?
What is lan’s work?
Where does lan travel?
Where is lan hang-gliding?
Where does lan land?
Who helps lan?

Hang-gliding.
Near Cape Town.

1. Hang-gliding is lan's _hobby .
2. lan all around the world.

3. lan sees and other animals.

4. lan lands in the lion's

5. The lion gets up and slowly walks lan.

6. lanis safe. He is happy. He

B. Answer the questions.

1. lan’s hobby is watching animals. Right?
No, it is not. His hobby is hang-gliding.

2. lan makes hang-gliders and small planes. Right?

3. lan travels only to South Africa. Right?

4. lan flies into the forest. Right?

5. The lion walks towards lan. lan is very happy. Right?




